
Cotton Cryptogram 
 

Use the code to solve the cryptogram by substituting the letters of the alphabet for the 
corresponding symbols. 

 
 
 
 A B C D E F G H I J K L M 
              
 
 N O P Q R S T U V W X Y Z 
              
 
 
 
 
 
         
 The _____________        ______________  in  __________________     _____________ 
 
 
        
 the _____________ ______________  in 1912 by ______________________ 
 
 
                 
 2,073  ____________   of  _____________  in   _______    ______. 
 


